
The sales for XYZ for the last 27 weeks have been as given below:
	week1
	142.8

	week2
	151.8

	week3
	155.7

	week4
	169.9

	week5
	180.7

	week6
	189.6

	week7
	190.5

	week8
	205.7

	week9
	233.3

	week10
	246.4

	week11
	272.3

	week12
	294.8

	week13
	303.3

	week14
	317.4

	week15
	322.8

	week16
	359.7

	week17
	368.1

	week18
	369.7

	week19
	396.2

	week20
	417.8

	week21
	419.6

	week22
	471.0

	week23
	516.0

	week24
	540.3

	week25
	547.1

	week26
	577.2

	week27
	654.4


1) Fit a linear trend line in the form of Y = A + BT + 
2) What are your estimate of the average (base) and the trend components of this model?

3) Evaluate the estimated model’s fit to the observed data.

4) Plot the actual sales data (Y) against the estimated line, a + bT.

5) Do you think this model is appropriate?
6) Estimate a log-linear model, Y = eaebTe
7) Is this a better model? Why?

8) What is the constant growth factor?

9) Estimate sales for weeks 28-30.
